## APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager: GLEN YOERGER	Page 1 of4										
MINERAL POINT ROAD SIDEWALK ASSESSMENT DISTRICT - 2015 AND CITYWIDE STREET AND  Project: STORM SEWER REPAIRS - 2015											
Contract Number: 7421	Payment Number: 1										
DO NOT WRITE IN THIS BOX - TO BE COMPLETED BY CITY ENGINEERING PERSONNEL ONLY											
TOTAL FROM PAGE:4	88,156.00										
LESS RETAINAGE:	4,407.80										
SUBTOTAL:	83,748.20										
LESS PREVIOUS PAYMENTS:	0.00										
CURRENT PAYMENT DUE:	\$ 83,748.20										
CONTRACTOR'S APPLICATION FOR PAYMENT:  The undersigned contractor certifies that to the best of his/her knowledge the work covered by this application for payment has been completed in accordance with the contract documents, and that the current payment is now due.  CONTRACTOR: S&L UNDERGROUND AND TRUCKING, INC.  DATE  INSPECTOR'S CERTIFICATE FOR PAYMENT:  The undersigned Inspector certifies that to the best of his/her knowledge, the work covered by this application for payment has been completed in accordance with the contract documents, and that the contractor is entitled to payment for the amount certified.  PLEASE PROVIDE THE TIME PERIOD FOR THIS PAYMENT REQUEST:  FROM: 4-13-/5  TO: 4-19-/5  PLEASE PROVIDE THE CONTRACTOR/SUBCONTRACTORS THAT WORKED ON PROJECT DURING THIS PERIOD:  Megg Rentals											
NOTE: SIGNED PAYMENT REQUEST SHALL BE SUB-											

ACCOUNT NO. 10454-402-170: 54410 ACCOUNT NO. 10454-402-174: 54445

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

S&L UNDERGROUND AND TRUCKING, INC.

MINERAL POINT ROAD SIDEWALK ASSESSMENT DISTRICT - 2015 AND CITYWIDE STREET AND STORM SEWER REPAIRS - 2015 CONTRACT NO. 7421

CONTRACT NO. 7421 PAYMENT NO. 1											ĺ		
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
STREET ACCOUNT NO. 10454-402-170: 54410													
10701	TRAFFIC CONTROL	1.00	LUMP SUM	\$4,825.00	\$4,825.00		1.00	\$4,825.00	0.00	\$0.00	1.00	\$4,825.00	100.0%
10720	TRAFFIC CONTROL SIGN-PORTABLE ARROW BOARD	30.00	DAYS	\$38.00	\$1,140.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10721	TRAFFIC CONTROL SIGN-PORTABLE CHANGEABLE MESSAGE	20.00	DAYS	\$125.00	\$2,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10801	ROOT CUTTING - CURB & GUTTER	20.00	LF	\$17.00	\$340.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10802	ROOT CUTTING - SIDEWALK	20.00	LF	\$17.00	\$340.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10911	MOBILIZATION	1.00	LS	\$9,700.00	\$9,700.00		1.00	\$9,700.00	0.00	\$0.00	1.00	\$9,700.00	100.0%
20101	EXCAVATION CUT	215.00	CY	\$35.00	\$7,525.00		150.00	\$5,250.00	0.00	\$0.00	150.00	\$5,250.00	69.8%
20204	SELECT FILL (UNDISTRIBUTED)	100.00	TON	\$15.00	\$1,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20221	TOPSOIL	2,500.00	SY	\$4.00	\$10,000.00		1,000.00	\$4,000.00	0.00	\$0.00	1,000.00	\$4,000.00	40.0%
20301	SAWCUT CONCRETE PAVEMENT, FULL DEPTH	40.00	LF	\$3.00	\$120.00		25.00	\$75.00	0.00	\$0.00	25.00	\$75.00	62.5%
20303	SAWCUT BITUMINOUS PAVEMENT, FULL DEPTH	220.00	LF	\$1.25	\$275.00		100.00	\$125.00	0.00	\$0.00	100.00	\$125.00	45.5%
20321	REMOVE CONCRETE PAVEMENT	35.00	SY	\$32.00	\$1,120.00		15.00	\$480.00	0.00	\$0.00	15.00	\$480.00	42.9%
20322	REMOVE CONCRETE CURB & GUTTER	100.00	LF	\$5.00	\$500.00		30.00	\$150.00	0.00	\$0.00	30.00	\$150.00	30.0%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	550.00	SF	\$2.50	\$1,375.00		150.00	\$375.00	0.00	\$0.00	150.00	\$375.00	27.3%
20701	TERRACE SEEDING	2,500.00	SY	\$1.25	\$3,125.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21063	EROSION MATTING, CLASS I, TYPE A - ORGANIC	2,500.00	SY	\$1.40	\$3,500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30201	TYPE 'A' CONCRETE CURB & GUTTER	100.00	LF	\$44.00	\$4,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30301	5" CONCRETE SIDEWALK	4,100.00	SF	\$6.00	\$24,600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30302	7" CONCRETE SIDEWALK AND DRIVE	210.00	SF	\$6.55	\$1,375.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30340	CURB RAMP DETECTABLE WARNING FIELD	24.00	SF	\$30.00	\$720.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40102	CRUSHED AGGREGATE BASE COURSE, GRADATION 2	200.00	TON	\$19.00	\$3,800.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

S&L UNDERGROUND AND TRUCKING, INC.

INLET PROTECTION TYPE D HYBRID -

**PROVIDE & INSTALL** 

15.00

**EACH** 

\$160.00

21056

MINERAL POINT ROAD SIDEWALK ASSESSMENT DISTRICT - 2015 AND CITYWIDE STREET AND STORM SEWER REPAIRS - 2015

**CONTRACT NO. 7421 PAYMENT NO. 1** \*\*\*\*\*\* #10 2 3 5 6 7 8 9 11 12 **ESTIMATED** UNIT PRICE CONTRACT C. O. UNITS THIS UNITS PREV. TOTAL PERCENT APPL.(S) ITEM TYPE OF WORK **QUANTITIES** UNITS BID **DOLLARS DOLLARS** APPL. **EXTENSION** EXTENSION UNITS EXTENSION COMPLETE 40201 HMA PAVEMENT TYPE E-0.3 17.00 TON \$227.20 \$3.862.40 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% **HMA PAVEMENT TYPE E-3** TON \$105.20 \$9.468.00 \$0.00 \$0.00 40203 90.00 0.00 0.00 \$0.00 0.00 0.0% 40211 **BITUMINOUS TACK COAT** 50.00 GAL \$3.10 \$155.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% 40301 **FULL WIDTH GRINDING** 370.00 SY \$12.20 \$4,514.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% 40402 9-INCH CONCRETE PAVEMENT 15.00 SY \$80.00 \$1,200.00 \$0.00 0.00 0.00 \$0.00 0.00 \$0.00 0.0% MECHANICALLY STABILIZED EARTH 90001 105.00 SF \$42.00 \$4,410.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% MODULAR BLOCK WALL MODULAR BLOCK GRAVITY WALL SF \$48.00 90002 310.00 \$14.880.00 250.00 \$12,000.00 0.00 \$0.00 250.00 \$12,000,00 80.6% REMOVE EXISTING MECHANICALLY 90003 SF \$528.00 25.00 \$400.00 25.00 STABILIZED EARTH MODULAR BLOCK 33.00 \$16.00 0.00 \$0.00 \$400.00 75.8% WALL **CONCRETE STAINING - MODULAR** 90004 310.00 SF \$5.00 \$1,550.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% **BLOCK GRAVITY WALL** SUBTOTALS \$123.347.90 \$37.380.00 \$0.00 \$37.380.00 30.3% STREET ACCOUNT NO. 10454-402-174: 54445 TRAFFIC CONTROL FOR STORM SEWER 10702 1.00 **LUMP SUM** \$100.00 \$100.00 1.00 \$100.00 0.00 \$0.00 1.00 \$100.00 100.0% INSTALLATION MOBILIZATION FOR STORM SEWER 10912 1.00 LUMP SUM \$1,500.00 \$1,500.00 1.00 \$1,500.00 0.00 \$0.00 1.00 \$1,500.00 100.0% INSTALLATION **CLEAR STONE** 300.00 20217 TON \$16.50 \$4.950.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% REMOVE SEWER ACCESS STRUCTURE 20311 2.00 **EACH** \$1,060.00 \$2,120.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% (STORM) 20501 ADJUST SEWER ACCESS STRUCTURE 1.00 **EACH** \$360.00 \$360.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% CONSTRUCTION ENTRANCE **EACH** \$0.00 21011 3.00 \$930.00 \$2,790.00 0.00 0.00 \$0.00 0.00 \$0.00 0.0% **LUMP SUM** 21013 STREET SWEEPING 1.00 \$2,525.00 \$2,525.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% SILT SOCK (8 INCH) - PROVIDE, 21018 315.00 L.F. \$2,520.00 \$2,400.00 300.00 \$2,400.00 \$8.00 300.00 0.00 \$0.00 95.2% **INSTALL, & MAINTAIN** SILT SOCK (8 INCH) - REMOVE & 21019 315.00 L.F. \$1.00 \$315.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% RESTORE

\$2,400.00

\$1,280.00

0.00

\$0.00

8.00

\$1,280.00

53.3%

8.00

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

S&L UNDERGROUND AND TRUCKING, INC.

MINERAL POINT ROAD SIDEWALK ASSESSMENT DISTRICT - 2015 AND CITYWIDE STREET AND STORM SEWER REPAIRS - 2015

**CONTRACT NO. 7421** 

**PAYMENT NO. 1** \*\*\*\*\*\* #10 1 2 3 5 6 7 8 9 11 12 **ESTIMATED** UNIT PRICE CONTRACT C. O. UNITS THIS UNITS PREV. TOTAL PERCENT APPL.(S) ITEM TYPE OF WORK QUANTITIES UNITS BID **DOLLARS DOLLARS** APPL. **EXTENSION** EXTENSION UNITS EXTENSION COMPLETE **INLET PROTECTION TYPE D HYBRID -**21057 30.00 **EACH** \$65.00 \$1,950.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% MAINTAIN INLET PROTECTION TYPE D HYBRID -21058 15.00 **EACH** \$25.00 \$375.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% 0.00 REMOVE 50211 SELECT BACKFILL FOR STORM SEWER 373.50 T.F. \$0.01 \$3.74 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% 8 INCH PVC STORM SEWER PIPE (SDR-50301 117.50 L.F. \$105.00 \$12,337.50 50.00 \$5,250.00 0.00 \$0.00 50.00 \$5,250.00 42.6% 26) 50412 15 INCH RCP STORM SEWER PIPE 141.50 L.F. \$117.00 \$16,555.50 135.00 \$15,795.00 0.00 \$0.00 135.00 \$15,795,00 95.4% L.F. 50415 24 INCH RCP STORM SEWER PIPE 74.00 \$116.00 \$8,584.00 60.00 \$6,960.00 0.00 \$0.00 60.00 \$6,960.00 81.1% 36 INCH RCP STORM SEWER PIPE L.F. \$6,358.50 50418 40.50 \$157.00 25.00 \$3.925.00 0.00 \$0.00 25.00 \$3,925.00 61.7% 50465 24 INCH RCP AE 1.00 **EACH** \$1,400.00 \$1,400.00 1.00 \$1,400.00 0.00 \$0.00 1.00 \$1,400.00 100.0% 50468 36 INCH RCP AE 1.00 EACH \$1,978.00 \$1,978.00 1.00 \$1,978.00 0.00 \$0.00 1.00 \$1,978.00 100.0% 50605 24 INCH RCP AE GATE 1.00 EACH \$580.00 \$580.00 1.00 \$580.00 0.00 \$0.00 1.00 \$580.00 100.0% 50608 36 INCH RCP AE GATE 1.00 **EACH** \$870.00 \$870.00 2.00 \$1,740.00 0.00 \$0.00 2.00 \$1,740.00 200.0% 50723 3'X3' STORM SAS 4.00 **EACH** \$3.252.00 \$13.008.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% 50724 4'X4' STORM SAS 1.00 **EACH** \$3,232.00 \$3,232.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% 50725 5'X5' STORM SAS 1.00 **EACH** \$4,160.00 \$4,160.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.0% 50741 **TYPE H INLET** 2.00 **EACH** \$2,185.00 \$4,370.00 2.00 \$4,370.00 0.00 \$0.00 2.00 \$4,370.00 100.0% 50792 STORM SEWER TAP 1.00 **EACH** \$1,010.00 \$1,010.00 1.00 \$1,010.00 0.00 \$0.00 1.00 \$1,010.00 100.0% 50801.1 UTILITY LINE OPENING (STORM) 3.00 EACH \$622.00 \$1,866.00 4.00 \$2,488.00 0.00 \$0.00 4.00 \$2,488.00 133.3% **SUBTOTALS** \$98,218.24 \$50,776.00 \$0.00 \$50,776.00 51.7% **CONTRACT TOTALS** \$221,566.14 \$88,156.00 \$0.00 \$88,156.00 39.8%